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Abe=g | K AVh | Abe=2 | K AVM | Abe=d | K AVE | AbE=) | KAV

1| BEr (HH) 73 50 73 47 77 44 141 73 74.3 | 77
2 | g E& (F§ %) 78 40 70 49 71 50 139 70 |73.0 | 78
3| Bl e (F %) 76 48 76 39 75 48 135 75 |75.7 | 76
4 | JEE 1T Gr X) 73 50 69 50 79 35 135 | 69 [73.7 | 79
5 | K &S (FEX) 79 37 76 39 77 44 120 76 |77.3 | 79
6 | MR FH (A X) 76 48 73 47 81 25 120 73 |76.7 | 81
7| HEFHZH (HEAEX) 79 37 75 43 79 35 115 75 1777 | 79
8 | fH (F %) 81 22 73 47 77 44 113 73 |77.0 | 81
9 | JEE ®X e X) 78 40 71 48 81 25 113 71 |76.7 | 81
10 | pRARSE—RR (FHEX) 79 37 77 30 77 44 111 71777 |79
11 | AJ)II #'EA (o X) 79 37 78 21 74 49 107 74 |177.0 | 79
12 | HH O7EIX) 76 48 80 12 76 47 107 76 |77.3 | 80
13 | &R F (&R X) 80 27 76 39 78 38 104 | 76 |78.0 | 80
14 | Mg ME Gk X) 80 27 76 39 79 35 101 76 |78.3 | 80
15 | HA (FHEX) 81 22 75 43 79 35 100 75 |78.3 | 81
16 | K& = (i ) 79 37 76 39 82 23 99 76 |79.0 | 82
17 | A HEERER h X 79 37 80 12 76 47 96 76 |78.3 | 80
18 | i W (i X) 82 18 75 43 79 35 96 75 |78.7 | 82
19 | =4 ¥ (hk 1X) 77 44 81 4 77 44 92 77 178.3 | 81
20 | JR H (HEFE1X) 76 48 79 16 80 28 92 76 |78.3 | 80
21 | By HEE (i ) 78 40 81 4 78 38 82 78 79.0 | 81
22 | Mot #mR (k. X) 82 18 76 39 82 23 80 76 80.0 | 82
23 | A EH (7 %) 79 37 76 39 76 76 | 77.5 | 79
24 | Al FIR (FHIX) 80 27 78 21 82 23 71 78 180.0 | 82
25 | B R (i ) 79 37 77 30 85 4 71 77 180.3 | 85
26 | FH # X) 83 10 77 30 80 28 68 77 180.0 | 83
27 | FAB BRESLA ) 84 1 77 30 79 35 66 77 180.0 | 84
28 | gwk B (X 87 0 77 30 79 35 65 77 |81.0 | 87
29 | /NEE fdti] (/) 79 37 82 0 80 28 65 79 180.3 | 82
30 | B A= (B %) 77 44 79 16 et 60 77 178.0 | 79
31 | ExARHEZ (8 57 1X) 80 12 76 47 59 76 |78.0 | 80
32 | HRSE—RR (A ) 86 0 80 12 77 44 56 77 |81.0 | 86
33 | B i) (EBHIX) 82 18 FHIK S 78 38 56 78 180.0 | 82
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34 | BR L (F X) 83 10 74 44 54 74 | 78. 83
35 | & S e X) 87 0 77 30 82 23 53 77 |82 87
36 | NE RZ (B X) 87 0 75 43 84 10 53 75 | 82. 87
3| B R&IG (LX) 82 18 77 30 85 4 52 77 |8l 85
38 | KEB —hk (F K) 79 37 83 14 51 79 |8l1. 83
39 | &1 Tl (F§ X) 86 0 78 21 82 23 44 78 | 82. 86
40 | VR (FZEX) 7 44 IR Y HHIK G 44 777 77
41 | &F Mz G X 7 44 FH 44 71T 77
42 | HIPE—RR (Fk ) 82 18 82 23 41 82 | 82. 82
43 | faA BIE (HALR) 83 10 78 21 84 10 41 78 | 8l. 84
44 | HEHL O OSEHE (&~ 1X) 86 0 76 39 90 0 39 76 | 84. 90
45 | FHEP  ERE (&1 X) 82 18 78 21 HHIK G 39 78 | 80. 82
46 | fAIJE - HLAN Gk %) 76 | 39 39 76 | 76. 76
47 | [AS SF (A ) 85 0 77 30 87 0 30 77 | 83. 87
48 | LE A (LX) 77 | 30 | 95 0 30 77 | 86. 95
49 | M EME | Rty BK) | 80 27 86 0 27 80 |83. 86
50 | kI D (FHEX) 80 27 FHIR G 27 80 | 80. 80
51 | /bR 3R (" X) 86 0 80 12 83 14 26 80 |83. 86
52 | TE AR R K) 90 0 80 12 83 14 26 80 |84. 90
53 | AfE H— P& X) 84 1 84 0 82 23 24 82 |83. 84
54 | Hill B (F5X) 83 10 81 4 84 10 24 81 | 82. 84
55 | HuE G () 82 0 82 | 23 23 82 | 82. 82
56 | WEWF K— | (RErX) 85 0 82 23 23 82 |83. 85
57 | & g (#BHIX) 81 22 82 0 87 0 22 81 |83. 87
58 | AR T Gf X) 83 10 80 12 88 0 22 80 |83. 88
59 | UM sEEH (B %) 81 22 Ftk 22 81 |8l. 81
60 | PR fRaE (B X) 82 18 FHIR S FHIK G 18 82 |82. 82
61 | #BE 5LHA (FBHLX) 82 18 18 82 |82. 82
62 | WH BE1T (FHEEX) 84 1 79 16 87 0 17 79 |83. 87
63 | = WA (FEHX) 79 16 16 79 | 79. 79
64 | M H8K (B RIX) 83 0 83 14 14 83 |83. 83
65 | LM PFEIA (B RIX) 83 10 81 4 14 81 |82. 83
66 | 1EFE A (FHEX) 80 12 88 0 12 80 |84. 88
67 | AL RiR (#B X)) 96 0 84 10 10 84 1 90. 96
68 | # Al bk %) 85 0 FHTR 84 10 10 84 | 84. 85
69 | Ak R X) 89 0 FHTR 84 10 10 84 | 86. 89
0 A0 (bt %) 83 10 84 0 88 0 10 83 | 85. 88
71| WA CHE (BRIX) 83 10 85 0 FHTR Y 10 83 | 84. 85
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72 | R A (FHEX) 83 10 S 10 83 |83.0 | 83
73 | T W (B 1) 89 0 84 0 85 4 4 84 [86.0 | 89
74| AR T Ol ) 88 0 85 4 4 85 |86.5 | 88
75 | Ml fEE (LX) 92 0 85 4 4 85 |88.5 | 92
6 | s FX (F %) 84 1 Kk 1 84 [84.0 | 84
(A ¥ N 1 (7 X) 84 1 FHTR Y 1 84 |84.0 | 84
78 | KA FE | RitrHK) | 91 0 83 0 86 0 0 83 |86.7 | 91
79 | HHE A (&RX) 89 0 93 0 86 0 0 86 |89.3 | 93
80 | fiky Pl ( X) 86 0 0 86 |86.0 | 86
81 | &M fEK (EBRIX) 91 0 85 0 87 0 0 85 |87.7 | 91
82 | & M= (o X) 91 0 87 0 87 0 0 87 |88.3 | 91
83 | 54 IEE (MR X) 89 0 88 0 87 0 0 87 |88.0 | 89
84 | LfhiRF HE | GREIIIX) 89 0 87 0 0 87 188.0 | 89
85 | SRAHEAREL | (FREIIK) 85 0 88 0 0 85 |86.5 | 88
86 | HZliy W (EBRIX) FEME 85 0 89 0 0 85 |87.0 | 89
87 | M FnEA (&RIX) 86 0 89 0 0 86 |87.5 | 89
88 | L 2 (FEIE R 92 0 89 0 0 89 190.5 | 92
89 | A A | (REr#KX) | 88 0 87 0 90 0 0 87 [88.3 | 90
90 | kM G X) 87 0 93 0 0 87 190.0 | 93
91 | Jl EE | FEIIX) 87 0 IR 94 0 0 87 190.5 | 94
92 | =HF A (F§ %) AR FHIR G 0 1000 | - 0
93 | MI'F 2B (#BHLX) 91 0 82 0 0 82 |86.5 | 91
94 | /Iy [ETE (HEFIX) 85 0 84 0 0 84 |84.5 | 85
95 | iR 1E (#HX) 84 0 0 84 |84.0 | 84
9% | TR O® /Y 85 0 0 85 |85.0 | 85
97 | I B (%7 B 85 0 0 85 |85.0 | 85
98 | & B (LX) 88 0 87 0 0 87 |87.5 | 88
99 | kA BEL (LX) 105 0 87 0 0 87 196.0 | 105
100 | 1iE Eth G:S) 94 0 89 0 0 89 |91.5 | 94
101 | e =1 | Ry | 85 0 92 0 0 85 |88.5 | 92
102 | A5 A (&RX) Ftk 0 1000 | - 0
103 | =H fL | BRErBK) | FEIRY FHIR S 0 1000 | - 0
104 | 1A (h ) 87 0 0 87 |87.0 | 87
105 | HEHEFE (FHEX) 87 0 0 87 |87.0 | 87
106 | ElEF #h (FLEX) FHIR S 0 1000 | - 0
107 | 8 R— (BB LX) 94 0 0 94 |94.0 | 94
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